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MECHANICS 2 (2017/18 spring) | PROBLEM SET 13. |
Problem 1.)
A particle moves freely along the x-axis. Its Hamiltonian is
2
HO ( p: x) = p_
2m

a.) Write down the Hamilton-Jacobi equation for the system, and solve it. In the following it

. C e : oS
will be convenient if, instead of the energy, we introduce the constanta—=af0r the
X

separation.
b.) Determine the canonical transformation generated by S.
c.) Now we introduce a potential that perturbs the system. Let it be the usual harmonic

potential, H,(p, x) = %ma)zx2 . The full Hamiltonian of the system is then.

2
14 1 2.2
H(p,x)=—+—mwx
(p,x) YR

Transform this Hamiltonian using the transformation of b.) You see, that the H, part
vanishes in this case, but H; is still there.

d.) Write down the canonical equations for the new set of variables (o and ).

e.) Although we could solve these equations in this case (because we can solve the full
problem), but instead of doing that, in the spirit of perturbation theory, determine the
functions a(t) and B(t) in the form of Taylor series.

Problem 2.)

The Hamiltonian of an anharmonic oscillator is:
2

1 4

H =p—+—mco§ ¥ +b
2m 2 2

Our goal is to determine the period of the motion as a function of energy.

Let’s start from the unperturbed problem
2

H,= LA 1 ma; x*
2m
a.) Transform to the action-angle variables of Hy. Denote them by I and ¢!
b.) Express the full Hamiltonian H as a function of Iy and oy.
From this point we follow the usual method of action-angle variables, using the Hamiltonian
H(I(),(po), Le.
c.) Using the full Hamiltonian, express the equation of constant energy (H=E) contours
Io(E.@o). Determine this function as a series in E. It is enough to keep the first (or maybe
second) nontrivial term.

d.) Write down the ..full” action variable /(E) = 2L§d(p010 (E,qp,) as aseries in E.
r

e.) Determine T(E) (as a series in E).
f.) When is our calculation convergent?
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1.) Feladat
Egy részecske az x-tengely mentén szabadon mozoghat, Hamilton-fliggvénye:
2
H 0 ( p; x) = L
2m

a.) Irjuk fel a rendszer Hamilton-Jacobi-egyenletét, és oldja meg. A tovabbiak miatt
kényelmes, ha az energia helyett a Z—S = o szeparalasi konstanst vezetjiik be.
X
b.) Adjuk meg az S altal generalt kanonikus transzformaciot!

c.) Most kapesoljunk be egy perturbald potencialt, aminek alakja H,(p,x) = %ma)zx2 , azaz

2

p 1 2.2
H(p,x) - + 2ma) X
Transzformalja 4t a Hamilton-fliggvényt a b.)-ben kapott transzformacioval! Lathatja, hogy
ezzel a Hy tagot eltlintettiik, H; viszont megmaradt.
d.) Irja fel az eltranszformalt (a, B) valtozokra a kanonikus mozgasegyenleteket!
e.) Bar ezeket az egyenleteket most meg tudnank oldani, azonban most mas utat jarunk.
Allitsuk eld az o(t) és p(t) figgvényeket Taylor-sor alakban, iterativen!

2.) Feladat

Egy anharmonikus oszcillator Hamilton-fliggvénye az alabbi alakban all el6ttiink:
2 4
1
H =p—+—mco§ ¥ +b
2m 2 2
A célunk meghatarozni az oszcillator periodusidejét az energia fliggvényében.

Induljunk ki a perturbalatlan harmonikus oszcillatorbél:
2

H, = L maw, x’
2m 2
a.) Transzformaljon 4t a Hy-nak megteleld hatas-szog valtozdkba, ezeket jelolje Iy €s ¢!
b.) Fejezze ki a teljes H fliggvényt I és @y segitségével!
Ettdl a ponttol kezdve a H(Iy,po) fliggvénybdl kiindulva a szokasos modon allunk neki a teljes H-
nak megfeleld hatas-szog valtozokkal valod szamoladsnak, azaz:
c.) Fejezziik ki a teljes (H=E) energia segitségével a szintvonalak Io(E,py) egyenletét. Adja
meg a fliggvényt E szerint kifejtett hatvanysor alakban! Elegend6 az els6 (esetleg masodik)
nemtrivialis tagig szamolnia!

d.) frjuk fel a telijes H-nak megfeleld ](E)=2L§d¢OIO(E,gDO) hatasvéaltozot E szerinti
r

hatvanysor alakban!
e.) Hatarozzuk meg a mozgas T(E) periodusidejét E szerinti hatvanysor alakban!
f.) Mikor konvergens a d.)-ben szereplé hatvanysor? Ertelmezziik az eredményt!



